[bookmark: _GoBack][image: ]

[image: ]
image1.png
s P AT BfE LS it A A i & ik
1 EPBEEASZT 6 V3.0 R = 1 5.45 5.45 /
2 BT WITRE V5.0 o E i [l 5 5 /
3| ETWEET] CRGE) ST04-04A CIFS = 1 2.6 2.6 /
4 I B 2235 ST02-058 EIR i 2 4.55 9.1 /
5 TR B EhE 1 STO7-06A S T 1 0.5 0.5 /
6 L STU-3200HD VEWON i 1 1.4 1.4 /
7 5 LA ST04-03A EES i 1 2.65 2.65 /
8 R ARG ST06-09A ENR E 2 2.2 1.4 /
9 W A WI01-02A-D EIR i 2 8.8 17.6 /
10 R SEH] [E Jit 130000 0. 00019 24.7 /
11 RETD 3 4 br2 SEf] - 3500 0. 0005 1.75 /
12 EVAERH SEH] 6000 0.0025 15 /
13 —REEERS VL0.0 1 8.45 8.45 /
14 R SEH] 2500 0.0014 3.5 /
15 GEAF R 2855 €100 1 0.6 0.6 /
16 e bE AL A60U 2 2.65 5.3 /
17 RS % D8 2 0.0625 0.125 /
18 N R % V1.0.0 1 1.2 1.2 /
19 | L R/ B0 RKT-FG8 50 0.35 17.5 /
20 R CRLE) JSD-Y08 2 0.95 L9 /





image2.png
21 e L) JSD-Y08 B = 2 2.5 /
22 [BE L AT8002 TR i 3 0.555 /
23 LR 8 SEH] B i 6 0.36 /
24 PNV M385C2-V-R23WFC T i 6 2.88 /
25 | FIBHARMCIFEE A% SEH] Rk ES 1 3.5 /
26 R F200A HhH i 2 2.5 /
27 # il GH12100 CEd P 32 2.4 /
28 24 DHEAJZZZ S5120V3-28P-L1 H3C i 4 142 /
29 RGHER SEH] EHA 5 1 5.5 /
SR (5Te) « 150,34 RNV E Sl





